Question 1:

=========

Is the Slot number and Subslot  number in the output below the same as Interface Number 1/1 and 2/1. Any links on Cisco to explain this would be good.

CSS# sh group wap-gateway1 portmap all

  Group: wap-gateway1, Port Map is Disabled

  SFP Port Map Info:

  Configured Base Port:   2016      Configured Ports Per VIP:  63488

  Slot: 1   SubSlot: 1

  Ports Avail to this SP: 23808     VIP Address:               172.x.x.x

  Current Mapped Ports:   0         Last Mapped Port:          55864

  High Water Mark:        722       Current Cntrl Channels:    0

  No Portmap Errors:      0       

  Slot: 2   SubSlot: 1

  Ports Avail to this SP: 39680     VIP Address:               172.x.x.x

  Current Mapped Ports:   0         Last Mapped Port:          46664

  High Water Mark:        1166      Current Cntrl Channels:    0

  No Portmap Errors:      0       

Question 2:

========
If 1/1 and 2/1 in the following output is referring to Interface numbers then why does it show the same source and destination IP addresses on Interfaces 1/1 and 2/1 in the same direction.

APR 15 14:41:40 172.a.a.a 1/1 157820 FLOWMGR-4: TCP out 172.x.x.x:50832->61.y.y.y:80 SYN  

 

APR 15 14:41:40 172.22.73.147 1/1 157821 FLOWMGR-4: TCP in 61.y.y.y :80->172.22.x.x.x:50832 SYN ACK  

 

APR 15 14:41:40 172.22.73.147 1/1 157822 FLOWMGR-4: TCP out 172.x.x.x:50832->61.y.y.y:80 PUSH ACK  

 

APR 15 14:41:39 172.22.73.147 2/1 229187 FLOWMGR-4: TCP out 172.x.x.x:43529->61.y.y.y:80 SYN  

 

APR 15 14:41:39 172.22.73.147 2/1 229188 FLOWMGR-4: TCP in 61.y.y.y :80->172.x.x.x :43529 SYN ACK  

 

APR 15 14:41:39 172.22.73.147 2/1 229189 FLOWMGR-4: TCP out 172.x.x.x :43529->61.y.y.y :80 PUSH ACK  

 

